3 / 6 5 4 3 2 1
REVISION HISTORY
DISPLAY SWIVEL AV-D32-46D Double Arm Model Selection Guide REV DATE BY DESCRIPTION
5° COUNTERCLOCKWISE B [28MAY2020[GEA/DMS PRN: P2020-0960
185° CLOCKWISE 2
ROTATION FROM £
POSITION SHOWN 2 ol
P § AV-D32-46D142-[A]
MIDDLE ARM PIVOT 3 1
360° ROTATION o 15 -
FROM POSITION SHOWN T m 8
T € ]
I : i a 10
R17.5 ~——1 2
2.7 € AV-D32-46D141-[A]
[.689] y* [.105] 8 .1 AV-D32-46D143-[A]
- 5
g
— — ﬂ + ° 0 ; :
QS\\L// 5] s w® ) g I
< = © @ = o
) n < n wn ,:_’,
o < n
S~ Display mass - kg (lbm)
LOWER ARM WALL PIVOT
o —_——————
+95° ROTATION FROM POSITION SHOWN ——=——0° (NOTE 2) ~ 1o
FORCE APPLIED AT MIDDLE JOINT [4.53]
100
2X R3.5 3.94
0 o "0 - -— L 257 - 75— ]
0.2 o [.138] . 95] 2X @ 9.8 +0.4
+.016 \ \ ' | ' [.386 +.016]
3.551 " g8 KIJ ‘ ‘ Lf\ |
- {4 <)+ {4
1) seheo (O | ()
FORWARD {
- A ‘ £\ ‘ | o “ 20X 7.34
| AR, 2ot N A4 o
1 {5 \ é 1200 75 ‘ \J ‘
‘ ] — _ I | FROM [2.95]
| A POSITION s ‘ ‘
14.35 ‘ 1 57.5 SHOWN [4.53] NOE S, @
[.565] | ‘ [2.26] | |
REVERSE
‘ - 59 a @
\ \
i 1 d-— —o
L ‘ ./
‘ 1 ‘
l 8X @ 5.2 +0.4
.205 £.016
2X @ 11 I ]
V [.433]
p:' :qs )\ [\ (= \
m‘“ =) T
T A X
‘ Wy '
‘ 14 .68 ,E})/ﬁ% = [3.772]
- 64
[.578]
[2.52]
N~ 7
Il N 7N
secTion A—A “Im
tW5,9 NOTES:
[.626]
1. FINISH PER SOUTHCO COSMETIC SPECIFICATION: S-121 CLASS C EXTERIOR POWDER COATED
80— SURFACES, PLASTIC PARTS CLASS B EXTERIOR VISIBLE SURFACES.
[3.15] 2. TILT TORQUE MEASURED WITH VESA DISPLAY PLATE IN THE VERTICAL (0°+5°) POSITION WHEN
TILTING IN THE REVERSE DIRECTION, THE TILT TORQUE VARIES WITH THE COUNTERBALANCE
(WHEN EQUIPPED) IN THE FORWARD AND REVERSE DIRECTIONS .
3. DISPLAY MOUNTING PLATE TO HOUSING ANGULAR FREE PLAY TO BE 1.5° MAXIMUM.
4X 5.5 4. MATERIALS AND FINISHES:
ADAPTERS: DIE CAST ALUMINUM ANODIZED AND POWDER COATED
/// ARMS, TILT HOUSING, SWIVEL HOUSING AND ARM MOUNT PLATE: DIE CAST ALUMINUM, POWDER COATED
TILT SLEEVE AND THRUST WASHER: ACETAL, BLACK
COILED PIN: STEEL, PHOSPHATE COATED
TILT SHAFT, TORQUE ELEMENTS AND STOP WASHER: STEEL, NATURAL FINISH
WIRE COVER SHOWN INSTALLED TORSION SPRING: CARBON STEEL, NICKEL PLATED
(SHIPS UNASSEMBLED FOR . section B—B DISPLAY SCREWS: STEEL, BLACK OXIDE
USER INSTALLATION) DISPLAY STOPS: POLYETHYLENE, WHITE
- 00 SWIVEL SHAFT: STAINLESS STEEL AND NYLON
[ 788] WIRE COVER AND HARDWARE COVERS: PC/ABS,
: M6 CAP SCREWS: ALLOY STEEL, BLACK OXIDE
M6 FLAT WASHERS: STEEL, ZINC PLATED
FORWARD TILT | REVERSE TILT DISPLAY SWIVEL SYMMETR IC TORQUE SYMMETRIC TORQUE LUBRICANT: HYDROCARBON BASE
CART NUMBER TORQUE fORQUE SYMMETR I C TO MOVE LOWER TO MOVE UPPER COLOR
Nem (1 fein) | Nem (1bfein) TORQUE ARM ASSEMBLY ARM ASSEMBLY THIRD ANGLE {ing:% ®
" N " N N+#m (Ibf+in) N+m (Ibf*in) N+m (Ibf*in) PROJECTION :5":)lL‘ ‘ ‘:,
AvoDoz 20D Al o0 1.13 (10) 7.9 (70) DLACK WASS MILLIMETERS [IN] CONNECT- CREATE + INNOVATE
AV-D32-46D141-76 4.29 (38) OFFICE WHITE 1.55 kg.
9.8 (87) NOMINAL | 9.8 (87) NOMINAL TOLERANCES UNLESS OTHERWISE NOTED|PESCRIFTION
AV-D32-46D142-50 NOMI NAL BLACK SURFACE AREA DISPLAY MOUNT
AV-D32-46D142-76 2.26 (20) 15.4 (136) 2.17 (24) ! / OFFICE WHITE
D350 - _ VRN ALL DIMENSIONS WITHOUT
o oo A AP RTCTIVEY 5.08 (45) MINIMUM|5.08 (45) MINIMUM —— oLl SmET;LikT & S!&k@{EL,, DOUBLE ARM
AV-D32-46D143-76 ' ' OFF ICE WHITE PROPRIETARY ITEW REFERENCE ONLY. AD N X J=AV-D32-46D141
LRV R S - __ - __
WG BATH A el | PER ASME Y 14.5M-1994 PC 30AUG2016 1:1 1 OF 4
8 / 6 5 4 3 2 1




3 / 3 7 1
REVISION HISTORY
REV DATE BY DESCRIPTION
B [28MAY2020[GEA/DMS PRN: P2020-0960
i UPPER ARM TO LOWER ARM
i ~ 360° FROM POSITION
SHOWN
|
DISPLAY SWIVEL & \
+95° 1 B DT
FROM POSITION | |
SHOWN
7
i J
i LOWER ARM TO ARM MOUNT
] +95°
FROM POSITION SHOWN
— 556.3 —
[21.9]
FORWARD
TILT
+20° REVERSE
-20° FORWARD
FROM POSITION
SHOWN
|
REVERSE - |
L] % :
R
[
25.7 - -
[1.011]
%
- 26 — 225 —— 225
[1.024] [8.858] [8.858]
THIRD ANGLE
RIS & southco
MILLIMETERS [ IN] CONNECT - CREATE « INNOVATE
TOLERANCES UNLESS OTHERWISE NOTED|PESCRIPTION
SURFACE AREA DISPLAY MOUNT
VOLUME ALL DIMENSIONS WITHOUT
TOLERANCES ARE FOR — IYLTELMT & SwG‘NOVEL’ DOUBLE ARM
REFERENCE ONLY
et £ S5 SRSy Seaes ' A2 NX J-AV-D32-46D141
IN WRITING, INFORMATION DISCLOSED DRAWN BY DATE SCALE STEET
Tl A S | PER ASME Y14.5M-1994 PC 30AUG2016 1 2 OF 4
3 / 3 7 1




PANEL PREPARAT I ON T8 S N T

B |28MAY2020|GEA/DMS PRN: P2020-0960

4X M6 X 1.0 THREAD
TAPPED INTO MOUNT ING
VA PLATE, OR ©¥6.5+0.2
CLEARANCE HOLES WITH
THE USE OF NUTS AND
WASHERS TO SECURE ARM
TO APPLICATION.

SIMULATED DISPLAY
(NOT SUPPLIED)

64 +0.2
[2.52 +.008]

DISPLAY MOUNT SCREWS
(NOT SUPPLIED)

ARM MOUNT NOTE :

1. ALITGN MOUNTING HOLES OF ARM ADAPTER WITH HOLES OF REQUIRED WALL OR
ACCESSORY MOUNT AND SECURE USING 4 EA. M6 X 1.0 SCREWS 25MM LG,

THIRD ANGLE
PROJECTION @6

MILLIMETERS [ IN]

southco

CONNECT - CREATE « INNOVATE

SURFACE AREA

TOLERANCES UNLESS OTHERWISE NOTED

DESCRIPT

ION

DISPLAY MOUNT
HIGH TENSILE, 12.9 GRADE, WITH M8 PLAIN WASHERS, UNDER THE HEAD, S— ALL DIMENSIONS WITHOUT TILT & SWIVEL. DOUBLE ARM
TIGHTENING TO 14 Nm TO TOLERANCES ARE FOR STIE [SvSTER SIIANTn
PROPRIETARY ITEM REFERENCE ONLY. A2 N X J-AV-D32-46D14"
— — — s
RESHTS s PATENT AND OTHERIISE. PER ASME Y14 .5M-1994 PC S0AUG2016 1:7
7 6 3 2 1




ALITGN SNAP TABS ON WIRE COVER

WITH ARM AND SNAP INTO PLACE.

NOTE: COVER INSTALLS IN ONE
DIRECTION ONLY

~
@ J
- [
@
|
, >~
@
-
@
ROUTE ELECTRICAL CABLES AS SHOWN.
BE SURE TO LEAVE SLACK IN THE CABLES
TO ALLOW FOR MOTION OF THE ARM
~
@ J
[
~
@

REVISION HISTORY

DATE

BY

DESCRIPTION

B |28MAY2020

GEA/DMS PRN:

P2020-0960

%m!mﬂi

THIRD ANGLE
PROJECTION {§§%{Zz}

southco

MILLIMETERS

[ IN]

CONNECT - CREATE « INNOVATE

SURFACE AREA

VOLUME

TOLERANCES UNLESS OTHERWISE NOTED|PESCRIPTION

ALL DIMENSIONS WITHOUT

TOLERANCES ARE FOR

TILT & SWIVEL,

DISPLAY MOUNT

DOUBLE ARM

REFERENCE ONLY . STZE [SYSTEW 5WG N
PROPRIETARY ITEM Ao Uy IR TP
TNWR 1T 106, TEORMATTON O 1S0L0SED - _ - oo
Fiits, B0 oheRisE” | PER ASME Y14.5M-1994 PC 30AUG2016 1:1 4 OF 4
3 2 :




